Supplementary

Table 1S. List of Chemical Species Appearing in Methane Thermochlorination Kinetic Scheme from ref. [14,15].

Unimolecular Decomposition Reactions

No. Reaction An En
(1/s) (cal/mol)

1 CI2 = 2Cl. 0.115E+12 0.580E+5
2 CH3Cl = CH3++Cl- 0.1E+17 0.844E+5
3 CH2CI12 = CH2Cl+ +Cle 0.1E+17 0.811E+5
4 CHCI2—-CH2Cl = CHCI2+ + CH2Cl* 0.1E+18 0.884E+5
5 CH2CI-CH2Cl = 2CH2Cl+ 0.1E+18 0.901E+5
6 CHCI3 = CHCI2+ + Cl- 0.1E+17 0.776E+5
7 CHCI12—CHCI2 = 2CHCI2- 0.1E+18 0.824E+5
8 CCI3—-CCI3 = 2CCI3- 0.1E+18 0.714E+5
9 CCI3—CH2Cl = CCI3« + CH2Cl* 0.1E+18 0.827E+5
10 CCI3—CHCI2 = CCI3+ + CHCI2- 0.1E+18 0.759E+5
11 CCl4 = CCI3«+Cle 0.1E+17 0.709E+5
12 CH2CI-CH2+ = CH2CH2 + Cl* 0.1E+15 0.203E+5
13 CH2CI-CCI12+ = CCI2CH2 + Cl- 0.1E+15 0.259E+5
14 CHCI2—CHCIe = t-CHCICHCI + Cl« 0.1E+15 0.216E+5
15 CHCI2-CHCle = ¢c-CHCICHCI + Cl+ 0.1E+15 0.211E+5
16 CH2CI-CHCI+ = CHCICH2 + Cl» 0.1E+15 0.229E+5
17 CHCI2—CH2+ = CHCICH2 + Cl- 0.1E+15 0.192E+5
18 CHCI2—CCI12+ = CCI2CHCI + Cl 0.1E+15 0.212E+5
19 CCI3—-CCI2+« = CCI2CCI2 + Cl 0.1E+15 0.194E+5
20 CCI3—CH2e+ = CCI2CH2 + Cl+ 0.1E+15 0.175E+5
21 CCI3—CHCIls = CCI2CHCI + Cl» 0.1E+15 0.185E+5

Metathesis Reactions

No. Reaction An En

1 ¢c-CHCICHCI + Cls = c-CHCICCI- + HCI 0.1E+14 0.196E+4
2 t-CHCICHCI + Cls = t-CHCICCIe + HCI 0.1E+14 0.151E+4
3 CH3Cl1+Cle = CH2Cl« + HCI 0.1E+14 0.460E+3

4 CH3Cl+Cle = CH3++CI2 0.1E+15 0.256E+5
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CH4 +Cl» = CH3+ + HCI

CH4 + CH2Cl* = CH3- + CH3CI

CH2CI12 + Cls = CHCI2+ + HCI

CH2CI2 + CH3+ = CHCI2+ + CH4

CH2CI12 + CH2Cle = CHCI2+ + CH3CI
CH2CI12 + Cls = CH2Cl- + CI2

CH2CI2 + CH3+ = CH2ClI+ + CH3CI
CHCI2—-CH2Cl + Cls & CHCI2+—CHCI- + HCI
CHCI2-CH2Cl + Cls & CH2CI|-CCI2+ + HCI
CH2CIl-CH2Cl + Cls & CH2CI-CHClI- + HCI
CHCI3 + Cls = CCI3+ + HCI

CHCI3 + CH3+ = CCI3- + CH4

CHCI3 + CH2Cle = CCI3+ + CH3CI

CHCI3 + CHCI2+ = CCI3+ + CH2CI2

CHCI3 + Cls = CHCI2+ + CI2

CHCI3 + CH3+ = CHCI2+ + CH3CI

CHCI3 + CH2Cle = CHCI2+ + CH2CI2
CHCI2-CHCI2 + Cls & CHCI2—CCI2+ + HCI
CCl4+Cle=CCI3« + CI2

CCl4 +CH3» = CCI3+ + CH3CI

CCl4 + CH2Cl+ = CCI3+ + CH2CI2

CCl4 + CHCI2+ = CCI3+ + CHCI3

Chaperon Reactions

No.

1

Reaction

CCI2-CCI2 + CI2 = CCI3—CCI2+ + Cl»
CCI2-CHCI1 + CI2 = CHCI2—-CCI2+ + Cl«
CCI2—-CHCI +Cl12 = CCI3—CHClI+ + Cl«
¢c-CHCICHCI + CI2 = CHCI2—CHC I+ + Cl«
t-CHCICHCI + C12 & CHCI2—CHCI+ + Cl+
CCI2CH2 + C12 = CH2CI-CCI2+ + Cl*
CCI2CH2 + C12 = CCI3—CH2+ + Cl+
CHCICH2 + CI2 & CH2CI-CHCl+ + Cl+

CHCICH2 + CI2 2 CHCI2—CH2+ + Cl*

0.1E+14
0.3E+12
0.1E+14
0.3E+12
0.3E+12
0.1E+15
0.3E+12
0.1E+14
0.1E+14
0.1E+14
0.1E+14
0.3E+12
0.3E+12
0.3E+12
0.1E+15
0.3E+12
0.3E+12
0.1E+14
0.1E+15
0.3E+12
0.3E+12

0.3E+12

An

0.1E+14
0.1E+14
0.1E+14
0.1E+14
0.1E+14
0.1E+14
0.1E+14
0.1E+14

0.1E+14

0.211E+4
0.158E+5
0.460E+3
0.110E+5
0.110E+5
0.224E+5
0.110E+5
0.460E+3
0.460E+3
0.460E+3
0.460E+3
0.110E+5
0.110E+5
0.110E+5
0.189E+5
0.110E+5
0.110E+5
0.460E+3
0.122E+5
0.110E+5
0.110E+5

0.110E+5

En

0.399E+5
0.380E+5
0.408E+5
0.375E+5
0.374E+5
0.346E+5
0.429E+5
0.373E+5

0.410E+5
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CHCICH2 + CH2CI-CH2Cl = CHCI2—CH2+ + CH2CI-CH2-
CHCICH2 + CHCI2—CH2Cl = CHCI2—CH2+ + CHCI2-CH2-
CHCICH2 + CCI3—CH3 = CHCI2—-CH2- + CH3-CClI2-
CHCICH2 + CCI3—CH2Cl = CHCI2—-CH2- + CCI3—CH2-
CHCICH2 + CCI3—CH2Cl = CHCI2—-CH2+ + CH2CI-CCI2-
CHCICH2 + CCI3—CHCI2 = CHCI2—CH2+ + CCI3—CHCl
CHCICH2 + CCI3—CHCI2 = CHCI2—-CH2+ + CHCI2—-CClI2¢
CHCICH2 + CCI3—CClI3 = CHCI2—-CH2- + CCI3—CCI2-
CHCICH2 + CCl4 = CHCI2—CH2- + CCI3

CHCICH2 + CHCI2—CHCI2 = CHCI2—CH2+ + CHCI2—CHClI-
CHCICH2 + CH2CI-CH2Cl = CH2CI-CHClI+ + CH2CI-CH2-
CHCICH2 + CHCI2—CH2Cl = CH2CI-CHCI+ + CHCI2—-CH2-
CHCICH2 + CHCI2—CH2Cl = CH2CI-CHCI+ + CH2CI-CHCI*
CHCICH2 + CCI3—CH3 = CH2CI-CHCI+ + CH3—-CCl2-
CHCICH2 + CCI3—CH2Cl = CH2CI-CHClI- + CCI3—CH2-
CHCICH2 + CCI3—CH2Cl = CH2CI-CHCI- + CH2CI-CCl2-
CHCICH2 + CCI3—CHCI2 = CH2CI|-CHCl. + CCI3—CHCl*
CHCICH2 + CCI3—CHCI2 = CH2CI-CHCI- + CHCI2—CCl2-
CHCICH2 + CCI3—CCI3 = CH2CI-CHCI- + CCI3—-CCI2-
CHCICH2 + CCl4 = CH2CI-CHClI- + CCI3¢

CHCICH2 + CHCI2—CHCI2 = CH2CI-CHCI- + CHCI2—-CHClI-
CCI2CH2 + CH2CI-CH2Cl = CCI3—CH2+ + CH2CI-CH2-
CCI2CH2 + CHCI2—CH2Cl = CCI3—CH2e« + CHCI2-CH2-
CCI2CH2 + CHCI2—CH2Cl = CCI3—CH2+ + CH2CI-CHClI«
CCI2CH2 + CCI3—CH3 = CCI3—CH2+ + CH3—CClI2¢
CCI2CH2 + CCI3—CH2Cl = CCI3—CH2- + CCI3—CH2-
CCI2CH2 + CCI3—CHCI2 = CCI3—CH2- + CCI3—CHClI-
CCI2CH2 + CCI3—CHCI2 = CCI3—CH2- + CHCI2—CClI2-
CCI2CH2 + CCI3—CCI3 = CCI3—CH2- + CCI3—CCI2-
CCI2CH2 + CCl4 = CCI3—-CH2+ + CCI3

CCI2CH2 + CHCI2—CHCI2 = CCI3—CH2+ + CHCI2—-CHCl+
CCI2CH2 + CH2CI-CH2Cl = CH2CI-CCI2+ + CH2CI-CH2-

CCI2CH2 + CHCI2—CH2Cl = CH2CI-CCI2+ + CHCI2—CH2-
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0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15

0.3E+15

0.664E+5
0.647E+5
0.567E+5
0.614E+5
0.531E+5
0.553E+5
0.526E+5
0.542E+5
0.527E+5
0.568E+5
0.627E+5
0.610E+5
0.573E+5
0.530E+5
0.577E+5
0.494E+5
0.516E+5
0.489E+5
0.505E+5
0.490E+5
0.531E+5
0.683E+5
0.667E+5
0.630E+5
0.586E+5
0.634E+5
0.573E+5
0.545E+5
0.561E+5
0.547E+5
0.588E+5
0.599E+5

0.583E+5
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CCI2CH2 + CHCI2—CH2Cl = CH2CI-CCI2+ + CH2CI-CHClI-
CCI2CH2 + CCI3—CH3 = CH2CI-CCI2+ + CH3-CCI2-

CCI2CH2 + CCI3—CH2Cl = CH2CI-CCI2+ + CCI3—CH2-
CCI2CH2 + CCI3—CH2Cl = CH2CI-CCI2+ + CH2CI-CCI2-
CCI2CH2 + CCI3—CHCI2 = CH2CI-CCI2+ + CCI3—CHCl
CCI2CH2 + CCI3—CHCI2 = CH2CI-CCI2+ + CHCI2-CCI2-
CCI2CH2 + CCI3—CClI3 = CH2CI-CCI2+ + CCI3—CCI2-
CCI2CH2 + CCl4 = CH2CI-CCI2+ + CCI3.

CCI2CH2 + CHCI2—CHCI2 = CH2CI-CCI2+ + CHCI2—CHClI-
t-CHCICHCI1 + CH2CI-CH2Cl = CHCI2-CHCl- + CH2CI-CH2-
t-CHCICHCI + CHCI2—CH2Cl = CHCI2—-CHCl+ + CHCI2—CH2-
t-CHCICHCI + CHCI2—-CH2Cl = CHCI2—-CHCl+ + CH2CI-CHClI-
t-CHCICHCI + CCI3—CH3 = CHCI2—CHCI- + CH3—-CCI2-
t-CHCICHCI + CCI3—CH2Cl = CHCI2—CHCI-« + CCI3—CH2-
t-CHCICHCI + CCI3—CH2Cl = CHCI2—CHCl+ + CH2CI-CCI2-
t-CHCICHCI + CCI3—CHCI2 = CHCI2—CHCI- + CCI3—CHCl-
t-CHCICHCI + CCI3—CHCI2 = CHCI2—-CHCI+ + CHCI2-CCI2+
t-CHCICHCI + CCI3—CCl3 = CHCI2—CHCI- + CCI3—CCl2-
t-CHCICHCI + CCl4 = CHCI2—CHClI- + CCI3-

t-CHCICHCI + CHCI2—CHCI2 = CHCI2—CHClI« + CHCI2—-CHClI«
¢c-CHCICHCI1 + CH2CIl-CH2Cl & CHCI2—-CHCI+ + CH2C|-CH2-
¢c-CHCICHCI1 + CHCI2—-CH2Cl & CHCI2—-CHCI+ + CHCI2-CH2-
¢c-CHCICHCI + CHCI2-CH2Cl & CHCI2—CHCl+ + CH2CI-CHCl-
¢c-CHCICHCI + CCI3—CH3 = CHCI2—CHCl+ + CH3-CCI2-
¢c-CHCICHCI + CC13—CH2Cl = CHCI2—CHCI- + CCI3—CH2-
¢c-CHCICHCI + CCI3—CH2Cl = CHCI2—CHCI- + CH2CI-CCI2-
¢c-CHCICHCI + CCI13—CHCI2 = CHCI2—CHClI- + CCI3—CHCI-
¢c-CHCICHCI + CCI13—CHCI2 = CHCI2—CHCI- + CHCI2—-CCI2-
¢c-CHCICHCI + CC13—CClI3 = CHCI2—-CHCl- + CCI3—CCI2-
¢c-CHCICHCI + CCl4 = CHCI2—CHCI- + CCI3-

c-CHCICHCI + CHCI2—CHCI2 = CHCI2—CHCI« + CHCI2—-CHCl*
CCI2CHCIl + CH2CI-CH2Cl = CCI3—CHCI« + CH2CI-CH2-

CCI2CHCI1 + CHCI2—CH2Cl = CCI3—-CHClI« + CHCI2-CH2-
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0.3E+15
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0.3E+15

0.546E+5
0.502E+5
0.550E+5
0.466E+5
0.489E+5
0.461E+5
0.477E+5
0.463E+5
0.504E+5
0.628E+5
0.611E+5
0.574E+5
0.530E+5
0.578E+5
0.494E+5
0.517E+5
0.489E+5
0.505E+5
0.491E+5
0.532E+5
0.629E+5
0.612E+5
0.575E+5
0.531E+5
0.579E+5
0.495E+5
0.518E+5
0.490E+5
0.506E+5
0.492E+5
0.533E+5
0.661E+5

0.645E+5



76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93
94
95
96
97
98
99
100
101
102
103
104

105

CCI2CHCIl + CHCI2—CH2Cl = CCI3—CHCI« + CH2CI-CHCl-
CCI2CHCI1 + CCI3—CH3 = CCI3—CHCI~ + CH3-CCl2¢
CCI2CHCIl + CCI3—CH2Cl1 = CCI3—CHCl+ + CCI3—CH2-
CCI2CHCl + CCI3—CH2Cl1 = CCI3—CHCl. + CH2CI-CCI2-
CCI2CHCI1 + CCI3—CHCI2 = CCI3—CHClI+ + CCI3—CHClI-
CCI2CHCI + CCI3—CClI3 = CCI3—-CHCI- + CCI3—CCI2-
CCI2CHCl + CCl4 = CCI3—CHCI- + CCI3-

CCI2CHCIl + CHCI2—-CHCI2 = CCI3—CHCI+ + CHCI2—-CHCl-
CCI2CHCIl + CH2CI-CH2Cl = CHCI2—CCI2+ + CH2CI-CH2-
CCI2CHCI1 + CHCI2—-CH2Cl = CHCI2—CCI2+ + CHCI2—-CH2-
CCI2CHCI1 + CHCI2—-CH2Cl = CHCI2—CCI2+ + CH2CI-CHCI-
CCI2CHCI1 + CCI3—CH3 = CHCI2-CCI2+ + CH3-CCI2-
CCI2CHCI1 + CCI3—CH2Cl = CHCI2—CCI2+ + CCI3—CH2-
CCI2CHCI + CCI3—CH2Cl = CHCI2—CCI2+ + CH2CI-CCl2-
CCI2CHCI1 + CCI3—CHCI2 = CHCI2—CCI2+ + CCI3—CHClI-
CCI2CHCI1 + CCI3—CHCI2 = CHCI2—CCI2+ + CHCI2-CCI2-
CCI2CHCI1 + CCI3—CClI3 = CHCI2-CCI2- + CCI3—CCI2-
CCI2CHCI1 + CCl4 = CHCI2—-CCI2+ + CCI3e

CCI2CHCI1 + CHCI2—CHCI2 = CHCI2—CCI2+ + CHCI2—-CHClI-
CCI2CCI2 + CH2CI-CH2CI = CCI3—-CCI2+ + CH2CI-CH2-
CCI2CCI2 + CHCI2—-CH2Cl = CCI3—-CCI2¢ + CHCI2—CH2-
CCI2CCI12 + CHCI2—-CH2Cl = CCI3—CCI2+ + CH2CI-CHCI-
CCI2CCI2 + CCI3—CH3 = CCI3—-CCI2. + CH3—-CCI2-
CCI2CCI2 + CCI3—CH2Cl = CCI3—CCI2+ + CCI3—CH2-
CCI2CCI2 + CCI3—CH2Cl = CCI3-CCI2+ + CH2CI-CCI2-
CCI2CCI2 + CCI3—CHCI2 = CCI3—CCI2+ + CCI3—CHCI-
CCI12CCI2 + CCI3—CHCI2 = CCI3—CCI2+ + CHCI2-CCI2+
CCI12CCI12 + CCI3—CCI3 = CCI3—CCI2- + CCI3—CCI2-
CCI2CCI12 + CCl4 = CCI3—-CCI2+ + CCI3-

CCI2CCI12 + CHCI2-CHCI2 = CCI3—CCI2+ + CHCI2—CHClI-
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0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15
0.3E+15

0.3E+15

0.608E+5
0.564E+5
0.612E+5
0.528E+5
0.551E+5
0.539E+5
0.525E+5
0.566E+5
0.634E+5
0.617E+5
0.580E+5
0.536E+5
0.584E+5
0.500E+5
0.523E+5
0.495E+5
0.512E+5
0.497E+5
0.538E+5
0.652E+5
0.636E+5
0.599E+5
0.555E+5
0.603E+5
0.519E+5
0.542E+5
0.514E+5
0.530E+5
0.516E+5

0.557E+5



Table 2S. Microkinetic model of methane halogenation using iodine and bromine in the gas phase from ref [17].

No.

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30

Reaction

Br2 — Br+Br

Br+H2 — HBr+H
H+Br2 — HBr+Br
H+HBr — H2+Br

2Br — Br2

Br+HBr — Br2+H
Br+CH4 — HBr+ CH3
Br2+CH3 — CH3Br +Br
CH3Br + Br — CH3+Br2
CH3+HBr — Br+ CH4
2—->I+1

I+H2 — HI+H

H+I2 - HI+I

H+HI — H2+I
I+1—12

I+HI — 12+H
I+CH4 — HI+CH3
12+CH3 — CH3I+1
CH3I+1— CH3+12
CH3+HI — I+ CH4
CH3I - CH3 +1

IBr — [+ Br

H+IBr — HI+Br
H+IBr — HBr+1
[+Br — IBr

HBr+1— H+IBr
HI+Br — HBr+1
I+HBr — HI + Br
CH3+IBr — CH3Br+1

CH3+IBr — CH3I+ Br

An

(102 cm®/mole s)
422

4.8

6.8

1.32

14.8

27.2

9.81

1.16

0.537
8.43
16.9
431
4.74
20.0
80.1
89.1
0.999
20.0
0.415
1.00
111 [4]
21.6 [b]
3.87 [d]

*

*

0.746

1.16 [f]
[h]

Ea
(kJ/mole)
185

74.6

1.83

4.6
-7.12
185.0
7.7

0.3

6.7
126.0
141.0
1.8
2.7

155.0
146.0

6.3

82.8

54

226
157.55 [a]
1.8 [c]

5.0 [e]

*

*

0.27

0.3[0]
[h]



31
32
33
34
35
36
37
38
39
40
41

CH3Br+1— CH3+IBr
CH3I+ Br — CH3 +IBr
IBr+Br — Br2+1

IBr+1— 12+Br

Br2+] — IBr+ Br

[24Br — IBr+1

CH3Br + Br — CH2Br+HBr
CH2Br+HBr — CH3Br + Br
CH2Br+HI — CH3Br+1
CH2Br + Br2 — CH2Br2+Br

CH2Br2+Br — CH2Br + Br2

7.22
9.99
0.045
0.090
0.331

*the rate constants were calculated using the reverse reaction rate constant and the equilibrium constant according to k = kreverse X
exp[-AG/RT].

[a] average of reactions #1 and #11; [b] A23 = %A13; [c] Ea23 = Eal3; [d] A24 = %2A3; [e] Ea24 = Ea3; [f] A29 = %A8; [g] Ea29
= Ea8; [h] k30 = 10-k29.



